
SAP ABAP table TFK012 {Bank clearing accounts}

TFK012

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

BVRKO [CHAR (10)]

HBKID [CHAR (5)]

HKTID [CHAR (5)]

GPARK [CHAR (10)]

BUT000

CLIENT [CLNT (3)]

PARTNER [CHAR (10)] TFK012-GPARK = BUT000-PARTNER 0..N

0..N

SKB1

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SAKNR [CHAR (10)]
 TFK012-BVRKO = SKB1-SAKNR 0..N

0..N
T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 TFK012-BUKRS = T001-BUKRS 
0..N0..N

T012

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]

 TFK012-HBKID = T012-HBKID 

0..N

0..N

T012K

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]

HKTID [CHAR (5)]

 TFK012-HKTID = T012K-HKTID 

0..N

0..N


